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Atoms

Multiple Choice Questions (MCQs)

Q. 1 Taking the Bohr radius as a, =53 pm, the radius of Li*" ion in its ground
state, on the basis of Bohr's model, will be about
(@) 53 pm (b) 27 pm
(c) 18 pm (d) 13 pm
K Thinking Process

Since, the radii of the orbits increase inversely as atomic number Z i.e,
1
rd—
V4

Ans. (¢) The atomic number of lithium is 3, therefore, the radius of Li** ion in its ground state,
on the basis of Bohr's model, will be about%times to that of Bohr radius.

Therefore, the radius of lithium ion is near %3 =18 pm.

Q. 2 The binding energy of a H-atom, considering an electron moving around a
fixed nuclei (proton), is

_ me*

= ————— (m = electron mass)
8nle2h?
If one decides to work in a frame of reference where the electron is at
rest, the proton would be moving around it. By similar arguments, the
binding energy would be
_ Me*

- W (M = proton mass)



This last expression is not correct, because
(@) n would not be integral
(b) Bohr-quantisation applies only two electron
(c) the frame in which the electron is at rest is not inertial
(d) the motion of the proton would not be in circular orbits, even approximately.

K Thinking Process
The electron revolves uniformly around nucleus have certain centripetal acceleration
associated with it.

Ans. (c) When one decides to work in a frame of reference where the electron is at rest, the
given expression is not true as it forms the non- inertial frame of reference.

Q.. 3 The simple Bohr model cannot be directly applied to calculate the energy
levels of an atom with many electrons. This is because

(a) of the electrons not being subject to a central force

(b) of the electrons colliding with each other

(c) of screening effects

(d) the force between the nucleus and an electron will no longer be given by
Coulomb’s law

K Thinking Process
The electrostatic force of attraction between electron and nucleus is a central force
which provide necessary centripetal force for circular motion of electron.

Ans. (a) The simple Bohr model cannot be directly applied to calculate the energy levels of an
atom with many electrons. This is because of the electrons not being subject to a

central force.

Q. 4 For the ground state, the electron in the H-atom has an angular
momentum = h, according to the simple Bohr model. Angular momentum
is a vector and hence there will be infinitely many orbits with the vector
pointing in all possible directions. In actuality, this is not true,

(a) because Bohr model gives incorrect values of angular momentum
(b) because only one of these would have a minimum energy

(c) angular momentum must be in the direction of spin of electron
(d) because electrons go around only in horizontal orbits

K Thinking Process

Bohr's second postulate defines these stable orbits. This postulate states that the electron
revolves around the nucleus only in those orbits for which the angular momentum is

. . h _ -
some integral multiple ofz— where h is the Planck’s constant (= 6.6 X107 J-s).
Tt

Ans (a) Inthe simple Bohr model, only the magnitude of angular momentum is kept equal to
some integral multiple of o where, his Planck’s constant and thus, the Bohr model
s

gives incorrect values of angular momentum.



Q.5 0, molecule consists of two oxygen atoms. In the molecule, nuclear force
between the nuclei of the two atoms
(a) is not important because nuclear forces are short-ranged
(b) is as important as electrostatic force for binding the two atoms
(c) cancels the repulsive electrostatic force between the nuclei
(d) is not important because oxygen nucleus have equal number of neutrons and
protons
K Thinking Process

The nuclear force is much stronger than the Coulomb force acting between charges or
the gravitational forces between masses. The nuclear binding force has to dominate over
the Coulomb repulsive force between protons inside the nucleus.

This happens only because the nuclear force is much stronger than the Coulomb force.
The nuclear force between two nucleons falls rapidly to zero as their distance is more
than a few femtometres.

Ans. (a) In the molecules, nuclear force between the nuclei of the two atoms is not important
because nuclear forces are short-ranged.

Q. 6 Two H atoms in the ground state collide inelastically. The maximum
amount by which their combined kinetic energy is reduced is
(@) 10.20 eV (b) 20.40 eV () 13.6 eV (d) 27.2 eV

K Thinking Process

The lowest state of the atom, called the ground state, is that of the lowest energy, with
the electron revolving in the orbit of smallest radius, the Bohr radius, a 0. The energy of
this state (n =1) Eis —=13.6 eV.

Ans. (a) The total energy associated with the two H-atoms in the ground state collide in
elastically =2 x (13.6 eV) =27.2 eV.

The maximum amount by which their combined kinetic energy is reduced when any
one of them goes into first excited state after the inelastic collision.

The total energy associated with the two H-atoms after the collision

- g@@ (13.6)= 17.0eV
2

Therefore, maximum loss of their combined kinetic energy
=272-17.0=10.2eV

Q. 7 A set of atoms in an excited state decays
(a) in general to any of the states with lower energy
(b) into a lower state only when excited by an external electric field
(c) all together simultaneously into a lower state
(d) to emit photons only when they collide

K Thinking Process

The electron of atoms in excited states can fall back to a state of lower energy, emitting a
photon in the process.

Ans. (a) A set of atoms in an excited state decays in general to any of the states with lower
energy.



Multiple Choice Questions (More Than One Options)

Q. 8 An ionised H-molecule consists of an electron and two protons. The
protons are separated by a small distance of the order of angstrom. In the
ground state.

(a) the electron would not move in circular orbits

(b) the energy would be (2)* times that of a H-atom

(c) the electrons, orbit would go around the protons

(d) the molecule will soon decay in a proton and a H-atom

K Thinking Process

A hydrogen molecule contain two electrons and two protons whereas ionised
H-molecule consists of an electron and two protons.

Ans. (a, c)
The protons are separated by a small distance of the order of angstrom. In the ground state
the electron would not move in circular orbits the electrons, orbit would go around the
protons.

Q. 9 Consider aiming a beam of free electrons towards free protons. When they
scatter, an electron and a proton cannot combine to produce a H-atom.
(a) Because of energy conservation
(b) Without simultaneously releasing energy in the form of radiation
(c) Because of momentum conservation
(d) Because of angular momentum conservation
Ans. (a, b)
When beam of free electrons is aiming towards free protons. Then, they scatter but an

electron and a proton cannot combine to produce a H-atom because of energy
conservation and without simultaneously releasing energy in the form of radiation.

Q. 10 The Bohr model for the spectra of a H-atom
(@) will not be applicable to hydrogen in the molecular from
(b) will not be applicable as it is for a He-atom
(c) is valid only at room temperature
(d) predicts continuous as well as discrete spectral lines

K Thinking Process

Niel's Bohr proposed a model for hydrogenic (single electron) atoms in order to explain
the line spectra emitted by atoms, as well as the stability of atoms.

Ans. (a, b)
The Bohr model for the spectra of a H-atom will not be applicable to hydrogen in the
molecular form. And also, it will not be applicable as it is for a He-atom.



Q. 11 The Balmer series for the H-atom can be observed

(a) if we measure the frequencies of light emitted when an excited atom falls to the
ground state

(b) if we measure the frequencies of light emitted due to transitions between
excited states and the first excited state

(c) in any transition in a H-atom
(d) as a sequence of frequencies with the higher frequencies getting closely packed

K Thinking Process

The various lines in the atomic spectra are produced when electrons jump from higher
energy state to a lower energy state and photons are emitted. These spectral lines are
called emission lines.

Ans. (b, d)
Balmer series for the H-atom can be observed if we measure the frequencies of light emitted
due to transitions between higher excited states and the first excited state and as a
sequence of frequencies with the higher frequencies getting closely packed.

-1 me*
Q. 12 Let En = 272/72

. be the energy of the nth level of H-atom. If all the

E, - E
H-atoms are in the ground state and radiation of frequency € —Ey)

falls on it,
(a) it will not be absorbed at all
(b) some of atoms will move to the first excited state
(c) all atoms will be excited to the n =2 state
(d) no atoms will make a transition to the n = 3 state
K Thinking Process

When an atom absorbs a photon that has precisely the same energy needed by the
electron in a lower energy state to make transitions to a higher energy state, the process
is called absorption.

Ans. (b, d) E )
2~ K

When all the H-atoms are in the ground state and radiation of frequency B falls on it,

some of atoms will move to the first excited state and no atoms will make a transition to the
n = 3 state.

Q. 13 The simple Bohr model is not applicable to He* atom because
() He* is an inert gas
(b) He* has neutrons in the nucleus
() He* has one more electron
(d) electrons are not subject to central forces

K Thinking Process

Neil's Bohr proposed a model for hydrogenic (single electron) atoms in order to explain
the line spectra emitted by atoms, as well as the stability of atoms.

Ans. (c, d)
The simple Bohr model is not applicable to He* atom because He* has one more electron
and electrons are not subject to central forces.



Very Short Answer Type Questions

©.14 The mass of a H-atom is less than the sum of the masses of a proton and
electron. Why is this?

K Thinking Process

Einstein showed that mass is another form of energy and one can convert mass-energy
into other forms of energy, say kinetic energy and vice-versa. Einstein gave the famous
mass-energy equivalence relation £ =mc* where the energy equivalent of mass m is
related by the above equation and c is the velocity of light.

Ans. Since, the difference in mass of a nucleus and its constituents, AM, is called the mass
defect and is given by
AM =[Zm, + (A =Z)m,] =M
Also, the binding energy is given by B= mass defect (AM) x c2.
Thus, the mass of a H-atom is

m, +m, = c% where B = 13.6 eV is the binding energy.

Q.. 15 Imagine removing one electron fromHe* and He®. Their energy levels, as
worked out on the basis of Bohr model will be very close. Explain why?

K Thinking Process

Neil's Bohr proposed a model for hydrogenic (single electron) atoms in order to explain
the stability of atoms.

Ans. Onremoving one electron from He* and He?®, the energy levels, as worked out on the basis
of Bohr model will be very close as both the nuclei are very heavy as compared to electron
mass.Also after removing one electron from He* and He® atoms contain one electron and
are hydrogen like atoms.

Q. 16 When an electron falls from a higher energy to a lower energy level, the
difference in the energies appears in the form of electromagnetic
radiation. Why cannot it be emitted as other forms of energy?

K Thinking Process

The accelerated electron produces electric as well as magnetic field hence
electromagnetic energy.

Ans. The transition of an electron from a higher energy to a lower energy level can appears in
the form of electromagnetic radiation because electrons interact only electromagnetically.

Q.. 17 Would the Bohr formula for the H-atom remain unchanged if proton had
a charge (+ 4/3)e and electron a charge (~3/4)e, wheree = 1.6 x 10 7"C.
Give reasons for your answer.

K Thinking Process
The electrostatic force of attraction between positively charged nucleus and negatively
charged electrons provides necessary centripetal force of revolution. Also, the magnitude
of electrostatic force F 1 g, g,.

Ans. [f proton had a charge (+4/3) e and electron a charge (-3/4)e, then the Bohr formula for the
H-atom remain same, since the Bohr formula involves only the product of the charges
which remain constant for given values of charges.



Q. 18 Consider two different hydrogen atoms. The electron in each atom is in
an excited state. Is it possible for the electrons to have different
energies but the same orbital angular momentum according to the Bohr
model?

K Thinking Process
Bohr's postulate states that the electron revolves around the nucleus only in those orbits

. . . . h .
for which the angular momentum is some integral multiple of2 , where h is Planck’s
T

J-s). Thus, the angular momentum (L) of the orbiting electron is

constant (= 6.6 00~

quantised. i.e,
h
=2
2Tt

Ans. According to Bohr model electrons having different energies belong to different levels
having different values of n. So, their angular momenta will be different, as

L:LhorLDn
2T

Short Answer Type Questions

Q. 19 Positronium is just like a H-atom with the proton replaced by the
positively charged anti-particle of the electron (called the positron
which is as massive as the electron). What would be the ground state
energy of positronium?

K Thinking Process
The reduced mass m of two particle system of masses m, and m, is given by

m m; m

Ans. The total energy of the electron in the stationary states of the hydrogen atom is given by
__ me'
8n’ech?
where signs are as usual and the mthat occurs in the Bohr formula is the reduced mass of
electron and proton. Also, the total energy of the electron in the ground state of the
hydrogen atom is —13.6 eV.For H-atom reduced mass m,. Whereas for positronium, the

reduced mass is
= e
2
Hence, the total energy of the electron in the ground state of the positronium atom is

1366V _ g oy



Q. 20 Assume that there is no repulsive force between the electrons in an
atom but the force between positive and negative charges is given by
Coulomb’s law as usual. Under such circumstances, calculate the ground
state energy of a He-atom.

K Thinking Process

The total energy of the electron in the nth stationary states of the hydrogen. Atom of
hydrogen like atom of atomic number Z is given by

Ans. For a He -nucleus with charge 2e and electrons of charge —e, the energy level in ground
state is

72 -13.6eV Y -13.6eV _

_E, = = —54.4eV
n I72 12

Thus, the ground state will have two electrons each of energy E and the total ground state
energy would be —(4 x 13.6)eV = -54.4eV.

Q. 21 Using Bohr model, calculate the electric current created by the electron
when the H-atom is in the ground state.

K Thinking Process
The electric current due to revolution of charge is given by i =% =Q%§:Q X 1, where
nis frequency.
Ans. The electron in Hydrogen atom in ground state revolves on a circular path whose radius is
equal to the Bohr radius (a, ). Let the velocity of electron is v.
218,
%

O Number of revolutions per unit time =
The electric current is given by / = (tl if g charge flows intimet. Here,q =e

The electric current is given by i = Zﬂe,
%

Q. 22 Show that the first few frequencies of light that is emitted when
electrons fall to nth level from levels higher than n, arc approximate

harmonics (i.e., in the ratio 1:2:3...) whenn >>1.

K Thinking Process
The problem is based on the explanation of spectrum of hydrogen atom.

Ans. The frequency of any line in a series in the spectrum of hydrogen like atoms corresponding
to the transition of electrons from (n + p)level to rth level can be expressed as a difference
of two terms;

V., =CRZ? o1 10
" Bn+p? 70
where, m=n+p (p=123,..)and Ris Rydberg constant.



For p<<n

04 240
Vinn :CRZZB*ZQ""BQ _TD
g n ng
gt 2p 10
Vo =CRZ? o —SE -
" B n® n?B

[By binomial theorem (1 + x)” =1 + nxif | x| < 1]

_ p22p cRz?[
v =cRZ 28 = R

Thus, the first few frequencies of light that is emitted when electrons fall to the nth level
from levels higher than n, are approximate harmonic (i.e., in the ratio 1 : 2 : 3 ...) when
n>>1

Q. 23 What is the minimum energy that must be given to a H-atom in ground
state so that it can emit an H, line in Balmer series? If the angular
momentum of the system is conserved, what would be the angular
momentum of such H, photon?

K Thinking Process
The third line in Balmer series in the spectrum of hydrogen atom is Hg

Ans. Hv in Balmer series corresponds to transition n = 5to n = 2. So, the electron in ground state
i.e., from n = 1must first be placed in state n = 5.
Energy required for the transition from n =2 ton = 5is given by
=E, -E; =13.6-0.54 =13.06eV
Since, angular momentum is conserved,

angular momentum coresponding to Hg photon = change in angular momentum of
electron

=L, -L, =5h -2h =3h =3 x1.06 x107%
=3.18 x 107" kg-m7s

Long Answer Type Questions

Q. 24 The first four spectral in the Lyman series of a H-atom are A = 1218A,
1028A, 974.3A and 951.4A. If instead of Hydrogen, we consider
deuterium, calculate the shift in the wavelength of these lines.

K Thinking Process
The reduced mass m of two particle system of masses m, and m, is given by

m m; m

Ans. The total energy of the electron in the stationary states of the hydrogen atom is given by
4

=-_me
2242
8n“egh
where signs are as usual and the mthat occurs in the Bohr formula is the reduced mass of
electron and proton in hydrogen atom.



By Bohr’s model,

hvy =E, —E,
On simplifying,
v = me* g1 1}
e be w2k
Since, AD 1
u
Thus, A, 00 )
u

where W is the reduced mass. (here, J is used in place of m)

Reduced mass for H=py = ;m Q\ M. @
Reduced mass for D=pupm E\ - @Q
2Mm
cm BT e
o 2M0m 2MO
If for hydrogen deuterium, the wavelength is ;i
D
Ao _ L @1 t [From Eq. (i)]
Ay IZI 2x 184OD

Ap = )\H (0.99973)
On substituting the values, we have
Thus, lines are 1217.7A,1027.7A, 974.04A, 951.143A.

Q. 25 Deutrium was discovered in 1932 by Harold Urey by measuring the small
change in wavelength for a particular transition in 'H and ?H. This is
because, the wavelength of transition depend to a certain extent on the
nuclear mass. If nuclear motion is taken into account, then the electrons
and nucleus revolve around their common centre of mass.

Such a system is equivalent to a single particle with a reduced mass |,
revolving around the nucleus at a distance equal to the electron-nucleus
separation. Here @ =m,M /(m, + M), where M is the nuclear mass and
m, is the electronic mass. Estimate the percentage difference in
wavelength for the 1st line of the Lyman series in 'H and 2H. (mass of
'H nucleus is 1.6725 x 107%" kg, mass of ?H nucleus is 3.3374 x 10~%

kg, Mass of electron = 9.109 x 10 3! kg.)
K Thinking Process

The percentage difference in wavelength is given by

AN _Np— Ay .
100 X — =———= X100, where signs are as usual.

H H



Ans. The total energy of the electron in the nth states of the hydrogen like atom of atomic

number Z is given by
8th2 %Q

where signs are as usual and the p that occurs in the Bohr formula is the reduced mass of
electron and proton .

Let puy be the reduced mass of hydrogen and Mp that of Deutr|um Then, the frequency of

_Hye _ HHe
the 1st Lyman line in hydrogen is hv @1 =
H ez 0 ab a2 4

4
Thus, the wavelength of the transition is A, = § Hh® _ The wavelength of the transition for

48¢2 h’c
the same line in Deutriumis Ay = 3 “De
4862
O AN =X 5 A
Hence, the percentage difference is
100 x 22 = Ao = A 400 = Ho “Hu x 100
Ay Ay My
mMy, _ mMy
(,ne + MD) (,T'e _MH) X 100
mMy,
(my + My,
O
= * My Mo _ 4% 100
+MpOMy
Since, m, << M, <<M
| o o
AN M J +M%D 0
BA w100="H x Yo O HU-10x 100
Ay D pGy M U
H wm,H

o My Mg O

[By binomial theorem, (1 + x)” =1+ nxis|x | <]
01 10

=m, —p* 100
%H MDEI
_ 1 0
=91 %1092 x 100
81 6725 x 102 3.3374 x 10‘275
=9.1x 107[0.5979 - 0.2996] x 100
=2.714x107°%

—




Q. 26 If a proton had a radius R and the charge was uniformly distributed,
calculate using Bohr theory, the ground state energy of a H-atom when
(i) R = 0.1A and(ii) R = 10A.
K Thinking Process

In this problem, expressions are to be derived in two cases namely for a point nucleus in
H-atom and for an spherical nucleus of radius R

Ans. The electrostatic force of attraction between positively charged nucleus and negatively
charged electrons (Coulombian force) provides necessary centripetal force of revolution.

me e’
Is rB2 4T,
By Bohr's postulates in ground state, we have
mvr = h
On solving,
h? Oe? 1
g m O-=+
mPE g %ano 2
2
0 DT = = 051A [This is Bohr's radius]
m
The potential energy is given by
Oe? O 2
—%‘Lézi = —27.20v;KE ="
W, 0 15 2
2
=lmo = " -siz6ev

o 2.2
2 mrg 2mrg
Now, for an spherical nucleus of radius R,

If R <1z, same result.
If R >> 5 the electron moves inside the sphere with radius 75 (' = new Bohr radius).

o 4 S0
Charge inside Ig =e§$§
2 3
O r'B:igﬁgi
mUOe? O
B
14

= (0.51A)R® [R =10A]
= 510(A)*
0 rg~(510/*A<R
KE=tm2=Mph _hl
2 2 mzr,’32 “om rég
Hp2 0O (0.517 _ 3.54

= @Wiﬁ%% (136eV)(510)1/2 opg =016V
- 3R*
PE-*HDEW

2
. % EL%% SR +(27.26V)E0 51(~/510 - 300)0 .
TE, Iy H 1000

+(7.20v) TN = 383 0V
1000



Q. 27 In the Auger process, an atom makes a transition to a lower state
without emitting a photon. The excess energy is transferred to an outer
electron which may be ejected by the atom (This is called an Auger,
electron). Assuming the nucleus to be massive, calculate the kinetic
energy of an n = 4 Auger electron emitted by Chromium by absorbing the
energy from an =2 ton =1 transition.

K Thinking Process

As the nucleus is massive, recoil momentum of the atom may be neglected and the
entire energy of the transition may be considered transferred to the Auger electron. As
there is a single valence electron in Cr, the energy states may be thought of as given by
the Bohr model.

Ans. The energy of the nth state £, = - Z%‘?i2 where R is the Rydberg constant and Z =24.
n

The energy released in a transition from 2 to 1 is AF = ZQR@ - %Q: %ZZR

The energy required to eject an = 4 electronis E, = ZZR%.

Thus, the kinetic energy of the Auger electron is

KE = zzﬂg - i@: 1 72
160 16

:% x 24 x 24 x 13,66V

= 5385.6eV

. . o e
Q. 28 The inverse square law in electrostatic is |F| = ———— for the force
(4Tey)r

between an electron and a proton. The %@ dependence of |F| can be

understood in quantum theory as being due to the fact that the particle
of light (photon) is massless. If photons had a mass m,,, force would be

. e’ A mp,c
modified to |F|= E@xp(—)\r) where )\=7 and

et ot
G4re )’ &2 v

h . . .
h= po Estimate the change in the ground state energy of a H-atom if
T

m, were 107° times the mass of an electron.

Ans, Form, = 1078 times, the mass of an electron, the energy associated with it is given by
m,c® =107 x electron mass x ¢*
=107 x 0.5 MeV
=107 x 0.5x1.6 x107™®
=~0.8x107"%J



The wavelength associated with is given by
ho_ he 107 x3x10°

- 2 —19
m,Ce  myC 0.8x10

= 4 x 10~'m >>Bohr radius

2
A= 00y %xp(—m

Camg, B2 s
where, A=< 4x107m>> A
m,c
0 A << li.e., Arg <<1
s
2 -
U@ = - e XP(=Ar)
4T, r
_ _h
mvr=h 0O v=—
mr
2 Oe? 0O
Also, 7‘/ == € Emi + AD
r e, 2 rH
n* _He® M , AO
a — = — + =
mr® %moégz rg
2 Oe2 0O
0 n”opge %[r+ w?
m g,
tA=0 r=p =t
m e
2 2
no_ e O,
m  4TE,
Since, A\"'>> 1, putr=r; + 3
0 g =1y +3+ Ng +& +28) neglect &
or 0=M; + 31 +2Ng)
—)\I’B2 2 2
= =Mg(1-2A)= -\
1+ 2N 5(1=2Mg)= = N

Since, Arg <<1
_ef SXP(-A3 — Mrp)

| Vi =
4T, g+
2 mn O O
O vin=--_11-20m-am)g
4T I z0 0
= (—27.2eV)remains unchanged
2 2 2
KE = —lfn\/2 :1m|jL :hi :L%]
2 2 mr* 2y +d° 20
= (13.6eV)[1 + 2]

2 2
€ M o]
ATey, 212
-272+13.6[1 +2Ng]eV
13.6 x2NzeV=272NzeV

Total energy =-

Change in energy



Q. 29 The Bohr model for the H-atom relies on the Coulomb’s law of
electrostatics. Coulomb’s law has not directly been verified for very short
distances of the order of angstroms. Supposing Coulomb’s law between
two opposite charge + g, — g, is modified to

|F| _ q1q2 1 —r> Ro
(41 () r?

_ 419, @’L@ r<R
4TE, R 0

Calculate in such a case, the ground state energy of a H-atom, if £ = 0.1,
R, =1A.

K Thinking Process

The question offers hypothetical situation in dealing with the total energy of the electron
of hydrogen atom.

Ans. Considering the case, whenr< R, =1A
Lete=2+90

5
=992 Ro
41E, 2*°

where, 992 = (16x1079?2 x9 x10°
411, &
=23.04 x 107N m?

The electrostatic force of attraction between positively charged nucleus and negatively
charged electrons (Coulombian force) provides necessary centripetal force.
2 3
:m or vzzﬂ (|)

r ml,1+5

/2

Om O

mvr =phip = =0h m5D 12+ 5/2
mv  mERSQ

[Applying Bohr's second postulates]
’
. . | n h2 0-s
Solving this for r, we get 575
om0 R
where, r, is radius of nth orbit of electron.
Forn= 1 and substituting the values of constant, we get
1
I:I »2 O-3s
[m ORS D
_0 1.05% x107%
%H x107" x2.3 x107%® x10*"°
=8x107"
=0.08nm (< 01nm)
This is the radius of orbit of electron in ground state of hydrogen atom.

;
29
O
O



1

S-%
nho_ . DRO@ _
mr, éngh2
Forn=1v, - - =1.44 x10° m/s
m

vV, =

[This is the speed of electron in ground state]
KE = %mvf ~9.43x107%J = 5.9eV

[This is the KE of electron in ground state]

PEtIlIR, = _RE [This is the PE of electron in ground state atr = R]

0
o _, RSO0
2+8 _1_5§w+5ﬁ?0

[This is the PE of electron in ground state at R, to 1]

PE from Ryto r = + ORS I/;
or

__ o1 1 0 oOR 1O
1+6g1+6 R2)+BE 1+BS,1+6 ROB
0o 0RrRY 1 1+80
PE=- — 02 - —+ ——
1+3F' "% Ry Ro%
-19 O
PE= - ERB—Oog _ED
09579  RyQ
_23

£ x107'8[(0.8)%° -1.9]J =-17.3¢eV
0.9

Total energy is (-17.3+ 5.9) =-11.4 eV
This is the required TE of electron in ground state.



